
7

11

Starters, Solenoids,
Ignition Switches and
Related Components

TRACTOR MODELOur
#

DESCRIPTION EQUIVALENT

1 R66948 Starter - New, Not Rebuilt D7NN11001A 2000, 3000, 4000, 2600, 3600, 4600, 2610, 3610, 4610, Ind. 230A,
No Core Required 231, 234, 2110LCG, 334, 335, 340, 340A, 3400, 3500, 3550, 420,
Gas only 4110LCG, 4400, 4500, 445, 530A, 531, 535, 540, 540A, 545, 550, 555

2 R60353 Starter - (5") New, Heavy Duty D8NN11000CE 2000, 3000, 4000, 5000, 7000, 8000, 8600, 8700, 9000, 9600, 9700,
Diesel Only 2600, 3600, 3900, 4100, 4600, 5600, 5900, 6600, 6700, 7600, 7700,
Replacement for: Drive R61368 2310, 2610, 2810, 2910, 3610, 3910, 4110, 4610, 5610 6610, 6710,
Solenoid R61552 6810, 7610, 7710, 7810, 7910, 8210, 3230, 3430, 3930, 4130, 4630,

(4830, 5030 ->4/91), 8530, 8630, 8730, 8830, TW5, TW10, TW15,
TW20, TW25, TW30, TW35, Ind. 230A, 231, 233, 234, 250C, 260C,
2110LCG, 333, 334, 335, 340, 340A, 340B, 345, 345C, 345D, 3400,
3500, 3550, 420, 445, 445A, 445C, 445D, 450, 455, 455C, 455D,
4110LCG, 4400, 4500, 515, 530A, 531, 532, 535, 540, 540A, 540B,
545, 545A, 545C, 545D, 550, 555, 555A, 555B, (555C, 555D ->4/91),
5500, 5550, (575D->4/91), 650, 655, 655A, (655C ->4/91), 655D,
(675D ->4/91), 6500, 750, 755, 755A, 755B, 7500,

 2 R65575 Starter - (5") New, Economy D8NN11000CE Same as Above
Drive R66824
Solenoid R41146

2 R36119 Starter - (3.1 kw) 82005342 5610S, 6610S, 7610S, 7810S, (4830, 5030 5/91->), 5640, 6640, 7740,
9821291 7840, 8240, 8340, 8160, 8260, 8360, 8560, TS90, TS100, TS110,

F0NN11000CA Ind. (555C, 555D, 555E, 575D, 575E, 655C, 655D, 655E, 675D,
675E, 775 5/91->)

3 R62405 Starter - New, Not Rebuilt 4807373 3010S, 3830 Orchard

3 R35971 Starter - New, Not Rebuilt 4807375 4330 Orchard, 4430 Vineyard, 4835, 5635, 6635, 7635

4 R66949 Solenoid - Gas only D2AF11450AA 2000, 3000, 4000, 2600, 3600, 4600, 2610, 3610, 4610, Ind. 230A,
231, 234, 2110LCG, 334, 335, 340, 340A, 3400, 3500, 3550, 420,
4110LCG, 4400, 4500, 445, 530A, 531, 535, 540, 540A, 545, 550, 555

5 R65976 Solenoid - Lucas 4 1/2" Dia D7NN11390A 2000, 3000, 4000, (5000 72-> Gas), 2600, 3600, 4100, 6600, 2310,
Diesel Starters, unless noted 2610, 2810, 2910, 3610, 3910, 4110, 4610, Ind. 230A, 231, 234,

2110LCG, 334, 335, 3400, 3500, 3550, 4110LCG, 4400, 4500,
530A, 531

6 R41146 Solenoid - Lucas 5" Dia D7NN11390B
Starter w/ #1 field wired separately
Check Plunger before ordering

7 R65684 Solenoid - Lucas 5" Dia E4NN11390AC
Check Plunger before ordering

8 R66647 Solenoid - Bosch Starter 82009427 5640, 6640, 7740, Ind. 555E, 575E, 675E
0001369015 only

9 R62410 Solenoid - Marelli Starter 9929078 3830 Orchard, 4430 Orchard

10 R66824 Drive - 10 Teeth - Lucas 5" Dia D2NN11350A
Starter w/ 12 Spline Armature

11 R62545 Drive Assembly - Marelli Starter 9961532 3830 Orchard, 4430 Orchard, 4835, 5635, 6635,
79081045 TN65F, TN75F, TN90F

86

1410 15

9

12 13 16

5

17 18

2 43
1



TRACTOR MODELOur
#

DESCRIPTION EQUIVALENT

Starters, Solenoids,
Ignition Switches and
Related Components

12 R65570 Ignition Switch D3NN11N572A 2000, 3000, 4000, 5000, 2600, 3600, 4600, 6600, 6700, 2610,
Gas or all Diesel less Cold Start 3610, 4610, Ind. 230A, 231, 233, 234, 333, 334, 335, 340, 340A,

3400, 3500, 3550, 420, 445, 515, 530A, 531, 532, 535, 540, 540A,
545, 5500, 5550

13 R65662 Ignition Switch E7NN11N501AC 2000, 3000, 4000, 5000, 7000, 8000, 8600, 8700, 9000, 9600, 9700,
Diesel w/ Cold Start 2600, 3600, 3900, 4100, 4600, 5600, 5900, 6600, 6700, 7600, 7700,

2310, 2610, 2810, 2910, 3610, 3910, 4110, 4610, 5610 6610, 6710,
6810, 7610, 7710, 7810, 7910, 8210, 3230, 3430, 3930, 4130, 4630,
(4830, 5030 ->4/91), 8530, 8630, 8730, 8830, TW5, TW10, TW15,
TW20, TW25, TW30, TW35, Ind. 230A, 231, 233, 234, 250C, 260C,
2110LCG, 333, 334, 335, 340, 340A, 340B, 345, 345C, 345D, 3400,
3500, 3550, 420, 445, 445A, 445C, 445D, 450, 455, 455C, 455D,
4110LCG, 4400, 4500, 515, 530A, 531, 532, 535, 540, 540A, 540B,
545, 545A, 545C, 545D, 550, 555, 555A, 555B, (555C, 555D ->4/91),
5500, 5550, (575D->4/91), 650, 655, 655A, (655C ->4/91), 655D,
(675D ->4/91), 6500, 750, 755, 755A, 755B, 7500

14 R56240 Switch - Ignition 5146155 3830 Orchard, 4430 Orchard, 4330 Vineyard, TN65F, TN75F, TN90F

15 R03989 Key - Ignition Switch 82003265 (All Models listed in R65662 except TS90, TS100, TS110 and
E7NN11603AA E Series Industrial)
D1NN11603B

16 R04023 Key - Agripack  Contains: R03989 x 2

17 R62282 Key - Ignition Switch 5170782 3830 Orchard, 4330 Vineyard, 4430 Orchard, 4835, 5635, 7635,
5112713 TN65F, TN75F, TN90F

18 R65743 Ring Gear (128 Teeth) 83949153 2000, 3000, 4000, 5000, 7000, 8000, 8600, 8700, 9000, 960, 9700,
(Diesel Engines Only) E2NN6384AA 2600, 3600, 3900, 4100, 4600, 5600, 5900, 6600, 6700, 7600, 7700,

C5NE6384A 2310, 2610, 2810, 2910, 3610, 3910, 4110, 4610, 5610, 6610, 6710,
6810, 7610, 7710, 7810, 7910, 8010, 8210, 3230, 3430, 3930, 4130,
4630, 4830, 5030, 8530, 8630, 8730, 8830, 6540, 6640, 7740, 7840,
8240, 8340, 8160, 8260, 8360, 8560, 8670, 8770, 8870, 8970, TS90,
TS100, TS110, TW5, TW10, TW15, TW20, TW25, TW30, TW35,
Ind. 230A, 231, 233, 234, 250C, 260C, 2110LCG, 333, 334, 335, 340,
340A, 340B, 345C, 345D, 3400, 3500, 3550, 420, 445, 445A, 445C,
445D, 450, 455, 455C, 455D, 4400, 4500, 515, 530A, 531, 532, 535,
540, 540A, 540B, 545, 545A, 545C, 545D, 550, 555, 555A, 555B,
555C, 555D, 555E, 575D, 5500, 5550, 650, 655, 655A, 655C, 655D,
655E, 675D, 675E, 6500, 750, 755, 755A, 755B, 7500

18 R62055 Ring Gear 4602143 3010S, 3830 Orchard, 4330 Vineyard, 4430 Orchard, 4835, 5635,
6635, 7635, TN65F, TN75F, TN90F

1. Battery feed and light
switch connection

2. Accessory
3. Thermostart or either start
4. Gauge, warning lamp

and ignition
5. Safety start switch and

starter solenoid

1

2
3

45

1. Battery feed and light
switch connection

2. Gauge, warning lamp
and ignition

3. Safety start switch and
starter solenoid

12

3

11 1410 1512 13 16

1 2 3 4

17 18

7 86 95

Rick�s Agri-Parts
4511 Silver Rd

Wooster, Ohio  44691

ricksagripatrs@gmail.com



TRACTOR MODELOur
#

DESCRIPTION EQUIVALENT

ricksagriparts@gmail.com

1 R65577 Generator (22 amp) C7NN10000CLPR 2000, 3000, 4000, 5000, (8000, 9000 ->12/69), Ind. 2110LCG,
less Pulley, Fan, Tach Drive 3400, 3500, 3550, 4110LCG, 4400, 4500

2 R66951 Pulley - Generator C5NF10196B Same as Above

3 R65669 Tach Drive Assembly C5NF17B282B Same as Above
C5NF17373B

4 R65562 Gear - Tach Drive C5NF17373B Same as Above

5 R65582 Regulator (22 amp) D0NN10505B Same as Above

6 R62412 Alternator (45 amp) 4808498 4330 Vineyard, 4430 Orchard, 4835, 5635, 6635, 7635
4787598

6 R62411 Alternator (55 amp) 5101645 3010S, 3830 Orchard, 4330 Vineyard, 4430 Orchard

2

4

31

5 6



TRACTOR MODELOur
#

DESCRIPTION EQUIVALENT

1 R61924 Ignition Kit (Points, Condenser, Rotor) C5AF12171C 2000, 3000, 4000, 5000, 2600, 3600, 4600, 6600, 6700, 2610,
Fits Original Motorcraft Distributor C5NF12300A 3610, 4610, Ind. 230A, 231, 234, 2110LCG, 334, 335, 340, 340A,

C5NF12200A 3400, 3500, 3550, 420, 445, 4110LCG, 4400, 4500, 515, 530A,
531, 535, 540, 540A, 545, 550, 5500, 555, 5550

2 R66449 Tune-up  Kit - 3 Cylinder 309788 2000, 3000, 4000, 2600, 3600, 4600, 2610, 3610, 4610,
Fits Original Motorcraft Distributor F251194 Ind. 230A, 231, 234, 2110LCG, 334, 340, 340A, 3400, 3500,
(Points, Condenser, Rotor, 251194 3550, 420, 445, 4110LCG, 4400, 4500, 515, 530A, 531, 535,
3 Autolite 405 Spark Plugs) 540, 540A, 545, 550, 555

3 R66450 Tune-up  Kit - 4 Cylinder 309788x1 5000, 6600, 6700, Ind. 5500, 5550
Fits Original Motorcraft Distributor 86548834x1
(Points, Condenser, Rotor, 
4 Autolite 405 Spark Plugs)

4 R66642 Complete Tune-up  Kit - 3 Cylinder
Fits Original Motorcraft Distributor
(Points, Condenser, Rotor, Dust Cover,
Dust Cover O�Ring, Distributor Cap,
Custom Fit Spark Plug Wires,
3 Autolite 405 Spark Plugs)

5 R66625 Distributor Cap - 3 Cylinder C5NF12106A 2000, 3000, 4000, 2600, 3600, 4600, 2610, 3610, 4610,
Fits Original Motorcraft Distributor Ind. 230A, 231, 234, 2110LCG, 334, 340, 340A, 3400, 3500,

3550, 420, 445, 4110LCG, 4400, 4500, 515, 530A, 531, 535,
540, 540A, 545, 550, 555

6 R61522 Dust Cover C5NF12239AA 2000, 3000, 4000, 5000, 2600, 3600, 4600, 6600, 6700, 2610,
Fits Original Motorcraft Distributor 3610, 4610, Ind. 230A, 231, 234, 2110LCG, 334, 335, 340, 340A,

3400, 3500, 3550, 420, 445, 4110LCG, 4400, 4500, 515, 530A,
531, 535, 540, 540A, 545, 550, 5500, 555, 5550

7 R66564 Custom Spark Plug Wire Set - DHPN12259A 2000, 3000, 4000, 2600, 3600, 4600, 2610, 3610, 4610,
w/ Coil Wire - 3 Cylinder Ind. 230A, 231, 234, 2110LCG, 334, 340, 340A, 3400, 3500,

3550, 420, 445, 4110LCG, 4400, 4500, 515, 530A, 531, 535,
540, 540A, 545, 550, 555

8 R66565 Custom Spark Plug Wire Set - DHPN12259A 5000, 6600, 6700, Ind. 5500, 5550
w/ Coil Wire - 4 Cylinder D7NN12287A

9 R61933 Spark Plug - Autolite 405 2000, 3000, 4000, 5000, 2600, 3600, 4600, 6600, 6700, 2610,
3610, 4610, Ind. 230A, 231, 234, 2110LCG, 334, 335, 340, 340A,
3400, 3500, 3550, 420, 445, 4110LCG, 4400, 4500, 515, 530A,
531, 535, 540, 540A, 545, 550, 5500, 555, 5550

10 R61016 Coil - 12 v - Non-resistered DSTE12029AB Same as Above

4

7 8 9 10

5 Ignition, Tune-up Kits
and Related Components

6

2

R66449
Ford Tune-Up Kit

3 Cyl

Rick�s Agri-Parts

3

R66450
Ford Tune-Up Kit

4 Cyl

Rick�s Agri-Parts

1



6

5

26

24

22

20

18
16 14

12
10

8

0

2

4

6

1

1211

987

4

3

15

13

Instruments, Senders and
Related Components

10

16

17 18

14

2

26

24

22

20

18

16

14
1210

8

0

2

4

6



TRACTOR MODELOur
#

DESCRIPTION EQUIVALENT

Instruments, Senders and Related Components

1 R65800 Instrument Cluster Assembly EHPN10849A 2000, 3000, 4000, 5000, 7000, Ind. 2110LCG, 3400, 3500,
w/ Voltage Stabilizer (Clockwise) 3550, 4110LCG, 4400, 4500
Includes: Temperature & Fuel Gauges
Metal Casing  - Use w/ Generator
Use Bulb R51143

2 R65742 Instrument Cluster Assembly D5NN10849A (2600, 3600, 3900, 4100, 4600, 5600, 6600, 7600, Ind. 231, 233,
w/ Voltage Stabilizer (Counter Clockwise) 333, 335, 340, 420, 445, 515, 531, 532, 535, 540, 545, 550, 555
Includes: Temperature & Fuel Gauges ->5/79)
Metal Casing - Use w/ Alternator
Use Bulb R51143

3 R62258 Instrument Cluster Assembly 5125046 3830 Orchard, 4330 Vineyard, 4430 Orchard
SPECIAL ORDER 5133783

4 R65569 Voltage Stabilizer C7NN10N507A 2000, 3000, 4000, 5000, 7000, 2600, 3600, 3900, 4100, 4600,
5600, 6600, 7600, Ind. 231, 233, 2110LCG, 333, 335, 340,
3400, 3500, 3550, 420, 445, 4110LCG, 4400, 4500, 515, 531,
532, 535, 540, 545, 550, 555

5 R65669 Proofmeter Drive Assembly C5NF17B282B 2000, 3000, 4000, 5000, (8000, 9000 ->12/69), Ind. 2110LCG,
C5NF17373B 3400, 3500, 3550, 4110LCG, 4400, 4500

6 R65562 Gear - Proofmeter Drive C5NF17373B 2000, 3000, 4000, 5000, (8000, 9000 ->12/69), Ind. 2110LCG,
3400, 3500, 3550, 4110LCG, 4400, 4500

7 R61774 Proofmeter Drive Assembly 87800006 2600, 3600, 3900, 4100, 4600, 5600, 5900, 6600, 6700, 7600,
F1NN17N264AB 7700, 2310, 2610, 2810, 2910, 3610, 3910, 4110, 4610, 5610,
F1NN17N264AA 6610, 6710, 7610, 7710, 3230, 3430, 3930, 4130, 4630, 4830,
E9NN17N264AA 5030, Ind. 230A, 231, 233, 234, 250C, 260C, 333, 334, 335, 340,
E4NN17N264AA 340A, 340B, 345C, 345D, 420, 445, 445A, 445C, 450, 455, 455C,
E3NN17N264AA 455D, 515, 531, 532, 535, 540, 540A, 540B, 545, 545A, 545C,
D8NN17N264AA 545D, 550, 555, 555A, 555B, 650, 655, 655A, 750, 755, 755A, 755B
D3NN17N264B

8 R65736 Proofmeter Drive Cable F1NN17N275AA Same as Above
E9NN17N275AB
D3NN17N275A

9 R75964 Proofmeter Cable (44" Long) D5NN17365D 6700, 7700, (5610, 6610 w/ Q-Cab), 6710,
(6810, 7610 w/ Q-Cab), 7710

9 R65561 Proofmeter Cable (47 1/2" Long) D9NN17365AB 2000, 3000, 4000, 5000, 2600, 3600, 3900, 4100, 4600, 5600,
less Cab 5900, 6600, 7600,2310, 2610, 2810, 2910, 3610, 3910, 4110,

4610, 5610, 6610, 6710, 7610, 3230, 3430, 3930, 4130, 4630,
4830, 5030, Ind. 230A, 231, 233, 234, 2110LCG, 333, 334, 335,
340, 340A, 340B, 345C, 345D, 3400, 3500, 3550, 420, 445, 445A,
445C, 445D, 450, 4110LCG, 4400, 4500, 515, 530A, 531, 532,
535, 540, 540A, 540B, 545, 545A, 545C, 545D, 750, 755A, 755B

9 R75963 Proofmeter Cable (50" Long) E9NN17365AA 3230, 3430, 3930, 4130, 4630, 4830, 5030

9 R75965 Proofmeter Cable (56 3/4" Long) E8NN17365AA 7810, 7910, 8210, 8530, 8630, 8730, 8830,
less Cab TW5, TW15, TW25, TW35

9 R57806 Proofmeter Cable (57" Long) D4NN17365B (5200, 7200 Rowcrop), Ind. 455, 550, 555A, 555B, 650, 655,
655A, 6500

9 R75966 Proofmeter Cable (60" Long) E1NN17365AA 7810, 7910, 8210, 8530, 8630, 8730, 8830,
w/ Cab TW5, TW15, TW25, TW35

10 R62257 Oil Pressure Sender 4998770 3010S, 3830 Orchard, 4330 Vineyard, 4430 Orchard, 4835,
5107603 5635, 6635, 7635, TN65F, TN75F, TN90F



TRACTOR MODELOur
#

DESCRIPTION EQUIVALENT

10 R65565 Oil Pressure Sender 81873524 2000, 3000, 4000, 5000, 7000, 8000, 8600, 8700, 9000, 9600,
F1NN9278AA 9700, TW5, TW10, TW15, TW20, TW25, TW30, TW35, 2600,
D8NN9278AA 3600, 3900, 4100, 4600, 5600, 5900, 6600, 6700, 7600, 7700,
D8NN9278BD 2310, 2610, 2810, 2910, 3610, 3910, 4110, 4610, 5610, 5610S,

6610, 6610S, 6710, 6810, 7610, 7610S, 7710, 7810, 7810S, 7910,
8010, 8210, 3230, 3430, 3930, 4130, 4630, 4830, 5030, 8530,
8630, 8730, 8830, 5640, 6640, 7740, 7840, 8240, 8340,
TS90, TS100, TS110, Ind. 230A, 231, 233, 234, 250C, 260C,
2110LCG, 333, 334, 335, 340, 340A, 340B, 345C, 345D, 3400,
3500, 3550, 420, 445, 445A, 445C, 445D, 450, 455C, 455D,
4110LCG, 4400, 4500, 515, 530A, 531, 532, 535, 540, 540A,
540B, 545, 545A, 545C, 545D, 550, 555, 555A, 555B, 555C,
555E , 655, 655A, 655C, 655D, 655E, 755

11 R65566 Temperature Sender C4AH10884A 2000, 3000, 4000, 5000, 7000, (8000 ->2/68), (2600, 3600, 4100,
4600, 5600, 6600, 6700, 7600, 7700, Gas ->5/76, Diesel ->3/76),
Ind. 2110LCG, (231, 233, 333, 335 Gas ->5/76, Diesel ->3/76),
(340, 340A Gas ->3/78), 3400, 3500, 3550, (420 Gas ->5/76,
Diesel ->3/76), (445 Gas ->3/76), 4110LCG, 4400, 4500, (515,
531 Gas ->5/76, Diesel ->3/76), (532, 535 Gas ->5/76, Diesel
->3/76),(540, 545 Gas ->3/78), 5500, 5550, (550, 555 ->3/76),
650, (655 ->3/76), 6550, 7500

12 R65567 Temperature Sender D5NN10884A (2600, 3600, 4100, 4600, 5600, 6600, 7600 6/76-5/79),
Ind. (231, 233, 333, 335, 6/76-5/79), (340 ->5/79), (420 Gas
6/76-5/79, Diesel 4/76-5/79), 445, 450 ->5/79), (515, 531
Gas 6/76-5/79, Diesel 4/76-5/79), (532 4/76-5/79), (535 Gas
6/76-5/79, Diesel 4/76-5/79), (540, 545 ->5/79), (555 4/76-5/79)

13 R65568 Temperature Sender 9712608 (2600, 3600, 4100, 4600, 5600, 5900, 6600, 7600 6/79->), 2310,
D8NN10884A 2610, 2810, 2910, 3610, 3910, 4110, 4610, 5610, 5610S, 6610,

6610S, 6710, 6810, 7610, 7610S, 7810, 7810S, 7910, 8210, 3230,
3430, 3930, 4630, 4830, 5030, 8530, 8630, 8730, 8830, 5640,
7740, 6640, 77840, 8240, 8340, 8160, 8260, 8360, 8560, TS90,
TS100, TS110, TW5, TW15, TW25, TW35, Ind. 230A, (231,
233 6/79->), 234, 250C, 260C, (333 6/79->), 334 (335, 340, 6/79->),
340A, 340B, 345C, 345D, (420, 445  6/79->), 445A, 445C, 445D,
(450 6/79->), 455, 455C, 455D, (515 6/79->), 530A, (531, 532,
535, 540 6/79->), 540A, 540B, (545 6/79->), 545A, 545C, 545D,
(550, 555 6/79->), 555A, 555B, 555C, 555D, 555E, 575D, 575E,
(650 6/79->), 655, 655A, 655C, 655D, 655E, 675D, 675E,
(755 6/79->), 755A, 755B, 775

13 R65563 Fuel Sender - Gas/Diesel D8NN9A316KA 2000, 3000, 4000, 2600, 3600, 3900, 4100, 4600, (2310, 2610,
Lock Ring Type 2810, 2910, 3610, 3910, 4110, 4610 ->1/84), Ind. (230A ->1/84),

231, 233, (234 ->1/84), 2110LCG, 333, (334, 335 ->1/84), 340,
(340A ->11/83), 3400, 3500, 3550, 420, (445 ->11/83), 4110LCG,
4400, 4500, 515, (530A ->1/84), 531, 532, 535, (540, 540A,
545 ->11/83)

13 R65564 Fuel Sender - Gas/Diesel D8NN9A316DB (5000, 7000 except Rowcrop), (5600, 6600, 7600 ->5/79)
Lock Ring Type

14 R61515 Fuel Sender Float - Plastic Universal
(2 3/4"" x 1" Dia x 7/8" Groove)

15 R62499 Fuel Sender 44905545 3830 Orchard, 4330 Vineyard, 4430 Orchard

16 R62291 Temperature Sender (M22 x 1.5 Thread) 5108205 (3010S w/ TTF Engine), TN 65F, TN75F

16 R58985 Temperature Sender (M16 x 1.5 Thread) 4171667 (3010S w/ Fiat Engine), 3830 Orchard, 4330 Vineyard,
4430 Orchard, 4835, 5635, 6635, 7635, TN90F

17 R52672 Analog Hourmeter Universal
(12-24 volt - 2� Dia - Black Ring)

18 R52673 LCD Hourmeter Universal
(12-24 volt - 2� Dia - Black Ring)

Instruments, Senders and Related Components



1413

Wiring and Battery
Components

TRACTOR MODELOur
#

DESCRIPTION EQUIVALENT

1 R61981 Complete Wiring Harness - Must be used C9NN14A103B (2000, 3000, 4000 Diesel w/ Generator)
as a set. Will not plug into original harness C5NN14N104R

2 R00550 Battery Hold Down Bolt (A=7 1/8") 86531712
C5NN5161C

3 R20556 Jumper Cable  - Extra Heavy Duty -
2 Gauge Cooper Wire (20�)

4 R20557 Jumper Cable Clamp - Extra Heavy Duty
Red/Black Zinc Plated Steel (Set of 2)

5 R20561 Battery Terminal - Heavy Duty - (Card of 10) Fits 6 to 2/0 gauge cables

6 R20570 Battery Bolt & Nut (5/16"-18 x 1 1/4")

7 R20545 Braided Straps Flat - 2 Gauge (7") Fits up to 3/8" Stud

7 R20546 Braided Straps Flat - 2 Gauge (9") Fits up to 3/8" Stud

7 R20547 Braided Straps Flat - 2 Gauge (11") Fits up to 3/8" Stud

7 R20548 Braided Straps Flat - 2 Gauge (14") Fits up to 3/8" Stud

7 R20549 Braided Straps Flat - 2 Gauge (16") Fits up to 3/8" Stud

7 R20550 Braided Straps Flat - 2 Gauge (19") Fits up to 3/8" Stud

7 R20551 Braided Straps Flat - 2 Gauge (24") Fits up to 3/8" Stud

8 R20552 Battery Cable Top Post - Black - 2 Gauge (10") Fits up to 3/8" Stud

8 R20553 Battery Cable Top Post - Black - 2 Gauge (15") Fits up to 3/8" Stud

8 R20554 Battery Cable Top Post - Black - 2 Gauge (20") Fits up to 3/8" Stud

8 R20555 Battery Cable Top Post - Black - 2 Gauge (23") Fits up to 3/8" Stud

8 R20567 Battery Cable Top Post - Black - 2 Gauge (27") Fits up to 3/8" Stud

8 R20568 Battery Cable Top Post - Black - 2 Gauge (32") Fits up to 3/8" Stud

8 R20569 Battery Cable Top Post - Black - 2 Gauge (34") Fits up to 3/8" Stud

9 R20563 Battery Terminal Puller

10 R20564 Battery Carry Strap for Post Terminal Batteries (14")

11 R20565 Battery Terminal Spreader

12 R20562 Terminal Protectors - Red/Black (Qty 2)

13 R20594 Terminal Protectors - Black (Qty 100)

14 R20558 Battery Tester - Dial indicates battery charge & specific gravity

15 R20559 Temperature Correcting Battery Hydrometer -
Temperature & Float Calibrated Reading

1

A

2
3 4

5 6 7 8

9 10 11 12 15



Headlights and
Related Components

TRACTOR MODELOur
#

DESCRIPTION EQUIVALENT

9

1 R61636 Headlight Assembly - 12 v Halogen Bulb Universal
Steel Body w/ Rubber Bezel - Black Primer

2 R66212 Headlight & Cowl Assembly - LH E0NN13006AA 2310, 2610, 2810, 2910, 3610, 3910, 4110, 4610, 5610,
w/ H4 Halogen Bulb R04778 (60/55 watt) 6610, 7610, Ind. 230A, 334, 335, 530A

2 R66213 Headlight & Cowl Assembly - RH E0NN13005BA 2310, 2610, 2810, 2910, 3610, 3910, 4110, 4610, 5610,
w/ H4 Halogen Bulb R04778 (60/55 watt) 6610, 7610, Ind. 230A, 334, 335, 530A

3 R66149 Headlight Unit - LH/RH E4NN13K005EA Fits R66212, R66213
w/ H4 Halogen Bulb R04778

4 R66644 Headlight Assembly F0NN13005AB 5640, 6640, 7740, 7840, 8240

5 R56388 Headlight Assembly 5177846 3830 Orchard, 4330 Vineyard, 4430 Orchard,
5126153 TN65F, TN75F, TN90F

6 R61545 Headlight - Halogen w/ Glare Guard
Flat-top Fender Mounted

7 R42757 Concave Washer - Fender Mounted Fits R61545

8 R66599 Socket - Headlight Mount E0NN13A097AA All side mounted headlights

9 R66600 Reinforcement Plate - Headlight Mount FAA13102A All side mounted headlights

10 R66416 Sealed Beam Bulb - 12 v (5 3/4") 4419 310062

11 R42813 Sealed Beam Bulb - 12 v (5 3/4") 4459
High/Low Beam

11 R04277 Sealed Beam Bulb - 12 v (4 1/2") D6NN13N007A
High/Low Beam

12 R04778 Halogen Bulb - H4 (55/60 watt) 73EG18009AA

13 R04779 Headlight Bulb - (45/50 watt) 14147590 3830 Orchard, 4330 Vineyard, 4430 Orchard,
TN65F, TN75F, TN90F

14 R41294 Plug Assembly - 3 Wire Fits 3 Terminal Sealed Beams or Halogen Bulbs

15 R65987 Switch - Headlight less Knob E7NN11654AA
Rotory Type Off w/ 3 On Positions

16 R66322 Knob - Light Switch Fits R65987

17 R35900 Flasher Unit - 6-Blade D8NN13N360AC Fits Models w/ Cab

18 R56378 Lamp Assembly - LH - Amber/Clear E4NN13N331CB (5610, 6610, 6810, 7610, 7710, 7810, 7910, 8210 10/85->),
w/ Cab E4NN13N331CA 8530, 8630, 8730, 8830, TW5, TW15, TW25, TW35

18 R56379 Lamp Assembly - RH - Amber/Clear E4NN13N330CB Same as Above
w/ Cab E4NN13N330CA

19 R56365 Lens - Amber/Clear Fits R56378, R56379

3

7

6 8 9

10 11 13

39.5

74

41.5

40

P45t-41

12

P43t-38 (H4)

22
1

4

5

17161514

18

19 (Lens only)



Rear and Work Lamps
and Related Components

TRACTOR MODELOur
#

DESCRIPTION EQUIVALENT

3

1

12

4

7
10

4 1/4"

98

5
6

1 R56285 Lamp Assembly - LH - Rear Tail & Turn E4NN13N510AB 5610, 6610, 6710, 6810, 7610, 7710, 7810, 7910, 8210,
For Tractor w/ Cab E4NN13N510AA 8530, 8630, 8730, 8830, TW5, TW15, TW35,TW35 10/85->)

1 R56286 Lamp Assembly - RH - Rear Tail & Turn E4NN13N465AB 5610, 6610, 6710, 6810, 7610, 7710, 7810, 7910, 8210,
For Tractor w/ Cab E4NN13N465AA 8530, 8630, 8730, 8830, TW5, TW15, TW35,TW35 10/85->)

2 R66354 Worklight - Halogen Bulb E5NN15R557AA 5610, 6610, 6710, 6810, 7610, 7710, 7810, 7910, 8210,
8530, 8630, 8730, 8830, TW5, TW15, TW35,TW35 ->3/88)

3 R13550 Rubber Halogen Lamp w/ Bulb (4 1/2�)  Universal
R04503 Replacement H3 Bulb

4 R08509 Rectangular Work Lamp w/ On/Off Switch - Universal
Plastic � 12 Volt � Halogen H3 Bulb
� Universal Mount (6 3/4" x 4")

5 R51753 Rectangular Work Lamp w/ 4 Bolt Mount - Universal
(2x 55w Halogen Bulbs) Rotates
(6 1/8" x 3 3/4")

6 R51750 Rectangular Work Lamp w/ 4 Bolt Mount - Universal
(1x 55w Halogen Bulb) Rotates
(4 1/4" x 3 3/4")

7 R02113 Round Work Lamp w/ On/Off Switch - Universal
Metal � 12 Volt � Halogen Bulb
� Universal Mount (4 1/2")

8 R04502 Work Lamp w/ On/Off Switch - Universal
Plastic � 12 Volt � Halogen Bulb
� Universal Mount � Handle

9 R61357 Universal Amber Light Universal
� 12 Volt � Both lenses Amber
� Does NOT include Flasher
� 3/8" Dia x 5/8" Long Mounting Bolt
R02114 Replacement Lens

10 R42985 Sealed Beam Bulb (5 3/4") C5NN13N424A Ind. 5500, 5550, 6500, 650, 7500, 750, 755, 755A, 755B
Combination Red & White 

10 R52670 Sealed Beam Bulb (4 1/2") Universal
Combination Red & White

11 R56469 Trailer Socket - 4-Pin 83982634 (3430, 3930, 4130, 4630, 4830, 5030 w/ Cab), 4835,
5635, 6635, 7635, 5640, 6640, 7740, 7840, 8240, 8340,
8160, 8260, 8360, 8560, TN65F, TN75F, TN90F,
TS90, TS100, TS110

12 R56470 Plug - 4-Pin E9NN14N150AA Same as Above

2

11


